Complete these nhumber sentences.

5+5+5+5=‘ X 8

2+2+2+2+2= \XS

I0+I0+I0=D><5
55=D><5

2 Lou has S bananas.

IIIII

Dan has 8 times as many.

How many bananas do they have in
total?

3 A bag contains 100 counters.

Susie takes out 26 counters.
Mark takes out 39 counters.
How many counters are left in the
bag?
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| Complete these nhumber sentences. 2 Louise is thinking of a U-digit humber.
Here are some clues to the humber.

25+25+25+25= D X 25 | e rumber s befween 4000

and 5000
I0+10+10 +10 = D X 5 o Al the digits are different |
Tl:: digit in the tens place is twice |
25 +25 +25 + 25 = X5 — edlglflnfhe . To_l{s_qn_ds place
25 + 25 + 25 + 25 = x 100  The sum of the digits Is 24

. The numb f
25+25—25—25_C]X 25 er'scdd

What could Louise’s number
be? Mot



